Z:\Clients\Steves and Sons - Permanent\A - Florida Product Approvals\FL-41479 LEGACY SERIES\C - Drawings\FL-41479 (2020)\FL-41479.4.dwg

203 Humble Ave.

STEVES

DIRECT GLAZED FIBERGLASS DOOR

San Antonio, TX 78225

SINGLE
w/ or w/out SIDELITE(S)

INSWING/OUTSWING
"NON-IMPACT"

GENERAL NOTES

STEVES AND SONS

1/4 LITE

i ! E/ /
X
X
/
1/2 LITE FULL LITE FULL LITE

w/ MICROBLINDS

LEGACY DECORATIVE & MICROBLIND COLLECTION

This product has been evaluated and is in compliance with the 7th Edition (2020) Florida Building
Code (FBC) structural requirements excluding the "High Velocity Hurricane Zone" (HVHZ).

2. Product anchors shall be as listed and spaced as shown on details. Anchor embedment to base
material shall be beyond wall dressing or stucco.
3. When used in areas requiring wind borne debris protection this product is required to be protected
with an impact resistant covering that complies with FBC Sections 1609.1.2 & R301.2.1.2 of the FBC.
4. For 2x stud framing construction, anchoring of these units shall be the same as that shown for 2x
buck masonry construction.
5. Site conditions that deviate from the details of this drawing require further engineering analysis by
a licensed engineer or registered architect.
TABLE OF CONTENTS
SHEET # | DESCRIPTION SHEET #
1 Typical Elevations, Design Pressures & General Notes 8 Horizontal & Vertical Cross Sections (1X Buck)
2 Door Panel Details 9 Horizontal & Vertical Cross Sections (Direct fo Masonry)
3 Sidelite Panel Details 10 Vertical Cross Sections
4 Panel Opfions 11 Buck Anchoring
5 Elevations 12 Frame Anchoring & Hardware Details
é Horizontal Cross Sections 13 Bill of Materials & Components
7 Horizontal & Vertical Cross Sections (2X Buck)

June 7, 2022

o)
o]
n
.M
oM
Z
.—_I,\
oM
(7 Il
E o
Z 050
S g .,
4 D0 o
O D>z
D\\\\ 2552
‘, OP’)m-H
b OQN - 0
o oD
- ©O O Xz
o ‘= z 0
L Eqg FMDo
o (a]
a £O 5 . cl
a8 502§
LT DD
2y
]
© C
E 67
3 U .,
g Cu
8 2o

, DESIGN %W

STEVES & SONS
FIBERGLASS DOOR
PART OR ASSEMBLY:
TYPICAL ELEVATION
PRESSURES & GENERAL NOTES

PRODUCT:

BY

68.5" MAX.
OVERALL FRAME
WIDTH
N ==
<% <3
oz 93
> = < &
< I < @) X ol |O
=2 25 °
nhT Rm
x%Y S
g 3
‘”‘ & J / J
CONTINUOUS HEAD & SILL

REVISIONS

NOJ{ DATE

DATE: 4/20/22

37.5" x 81.5"

SCALE:  N.T.S.

DWG. BY: RW

X0, OX, OXO

68.5" x 81.5"

CHK. BY: LFS

DRAWING NO.:
FL-41479.4

SHEET _1 oF 13

© 2022 R.W. BUILDING CONSULTANTS INC.



/.
W | e~ i} \ /
., 2.4 @@ ].2’ 2.4 .&/@/,,’ o
05— =~ EXTERIOR — o5 &z 8
> oL\ [T 5 | k= n FEEEE
| N 4 ve COMPOSITE Eig==oy
in = a =+ Ry 3 Jpyoy B Q': ol 7, SRR
~ ,%Q/, 4 NS CAP .‘°§§Qomm
— < TP 2060
‘bm ‘Ag l / \ ‘ gda . . S R @\\\\ g g 8 g
\ »)
INTERIOR W 2 og
HINGE STILE LOCKBLOCK ~ LATCHSILE  COMPOSITE 5 SR
COMRTE vy / 1"\ HORIZONTAL CROSS SECTION 9w7loNG (VU cAP TOP RAIL 53 9S8
2/ (v e sEs £0.,
po. L G 25
'w. -.V»-‘ g E Viﬁ a 85%
LT Qe v
v e o =
R — v g o i
LA BITE FIBERGLASS SKIN g gz tu @<
—— 1"O.A. THICK GLASS S S Jo
INTERIOR R
| 1/8" TEMPERED GLASS "
. —
o DECORATIVE INSERT SR
35.75" MAX. DOOR GLAING 27 » . 4 R 238 %
= wpm COMPOUND | "o \QA’R SPACE ~ 53 =
e ] /N | /B TEMPERED GLASS - o on |5 S
21" MAX. D.L.O. Q13 8
EXTERIOR ~ - 03 |2 84
WIDTH SWIGGLE SPACER ug e 2
o ol <
b Ealg
1) GLAZING DETAIL g |
DECORATIVE GLASS 172" , a =
— GLASS BITE ! ) (2
—] —— 1" O.A. THICK GLASS EXTERIOR INTERIOR & =
— ‘—T INTERIOR N =
1 s 3 — o 1/8" TEMPERED GLASS &
— i o ; BLIND INSERT
= \2/ — = . GLAZING <# '+ .7 « ¥
I 1 o WD ot 5 .
S & i S5 COMPOUND "=y :tAlR SPACE . __
2 %0 K N AN {7178 TEMPERED GLASS |
274 = - _—
S 25 X G ] 1t EXTERIOR FOAM SPACER —Lee 2
L ° | w/ ALUM INSERT RIS 2
% [ 1 GLAZING DETAIL N >
2 . C) w/ MICROBLINDS N %
R U = TN
SEE HARDWARE TABLE ~ v
, (LATCH & DEADBOLT Ce T
Va R FOAMCORE— [, . > &
4 B L — Lt
’ SEE HARDWARE TABLE  F— (POLYURETHANE]  |I" 7. =
IMULTIPOINT LOCK] cwiksgr | LATCH:  SIGNATURE SERIES - <
DEADBOLT:  SIGNATURE SERIES (80) BOTTOM RAIL __—+= 3 ]
LATCH: F51 REINFORCEMENT | e
SCHLAGE (LvL)
2 DEADBOLT:  BSON DATE: 4/20/22
ROCKWELL | LATCH:  PREMIUM HANDLESET BoTIOM RAIL— T L Al Bl soue  N.T.S.
DEADBOLT:  PREMIUM DEADBOLT (COMP.) owe. BY:  RW
@F’BERGLASSDOOR PANEL : oo IR
PREMIUM MULTIPOINT HANDLESET :
ROCKWELL w/ DEADLOCKING TONGUE (2" VERTICAL CROSS SECTION m,f'['i:?m 4
FIBERGLASS DOOR SKIN: MIN. 0.08" THK. MULTIPOINT LOCK 2/ :
CORE MATERIAL: POLYURETHANE FOAM SHEET 2 OF 13

Z:\Clients\Steves and Sons - Permanent\A - Florida Product Approvals\FL-41479 LEGACY SERIES\C - Drawings\FL-41479 (2020)\FL-41479.4.dwg

© 2022 R.W. BUuILDING CONSULTANTS IND,



CONT SANVYLINSNGD 9NIdTINg "M°'s 2202 @

€186 ON Ahsiboy 3dad e

L6L6'6S9°CLB "ON ouoyd SVL3d TINvd | SNOISIA3Y 31vd_[ON <+ |m
SBSEE 14 ‘O9UIDA ‘0£Z Xod ‘O'd § aL3ais NFIEIE RS 1_
"ONI ‘SINVLINSNOD ONIGTiNg @u K1Nassy 90 19vd SI=EFL %S
,,c:xch% 247 ¥00Q SSY19438l4 N 2% |

N 7 ‘0 oo ~+ I
//////@Aww“_. oﬁou\.mw. 3 o opad SNOS % SIAFLS 1E w HE & m
S oo Wi :Ag peiodesd sjuswinoog 110Naodd 5|8[8|3 W &

»x
60¥EY ON

*,
L

e gzm_oa Qooo.Q-
& oooo.o:o.n" >
\\\\\\Q\\SIow 3 /z///

Hppaans

o WSL°0 -
. ¥ - :N-F -—Nop i m
:\V O . - '_ M N m
7 TN «
| T F o .vv““ &)
i B | -~
1 \ . . &- : 5 m
= o —
m Z Z x E\ - / W
=0 v i w =
O % E © s 5 ~im
3 = o2 Sa
2 ® 3 £ £3
= - Q O
fre Q

o
9
[+4
i
F—
Z

(LVL)

ILE REINFORCEMENT

STLE
(LVL

)

\

m HORIZONTAL CROSS SECTION

- ..mN.— -

COMPOSITE
CAP

&

@ FIBERGLASS SIDELITE PANEL

£ R > O ]
LHOIH

S
‘OTA XYW .E9

IHOREH 1INV XYW .64

13.875" MAX. PANEL
WIDTH

5.875" MAX. D.L.O.
WIDTH
FOAM CORE: POLYURETHANE - 1.9 PCF MIN.)

FIBERGLASS SKIN: 0.08" MIN. THK.

BMp 1 6.1 Lr-14\0202) 627Lp-14\sBuIMeI - D\STIYIS ADVOTT 6.L7L1-14\s[erciddy 10NpOId EPLIO}S - Y\IUSUBWIR - SUOS pue SaAdIS\SIURIDNZ



TON] SINVLTIASNGD SNIiaTing "m'd 2202 §

[RRRENN™
4

€186 ‘ON Ansibey I4g4

L616°6G9°CLE 1ON euoyd SHOISIASY

S6SEE 14 ‘0OUIDA ‘OCZ Xodg "O'd \Sv SNOILHO FINVd ¥000 28 27d_{ON Qlui| x| > B_
"ONI ‘SINVLINSNOD ONIaTing @u LIGNISSY 90 Lavd SIEIEFL TS

N2 g -
29w
WNOzg/%,, coves oN ‘Ta 4000 V1938l 3 Jglgle Y |
O ...m.nﬁo.ﬂ,\..% %, WPILYDSS 4 UopUA] 0S # S3AdLS i m s|e|ET |8
N **e VA7 :Ag_peiodeuy_sjuswnaog 110Na0Yd HEIHEERE

e 60vEY 'ON
~ IS S S
\\ .o-. ..-. N
\\\\ &Q\c W.Moqmm.ﬂ\/u owc) ////
/] SIOm ///

1
g

Vi
%

/
Vi

/
J

/
Vi

FULL LITE
w/
MICROBLINDS

LEGACY SIDELITE

FULL LITE

FULL LITE
w/
MICROBLINDS

<
D
-
Q
T
=
O
m O
> a
> <
- o
ca
O
v
Q
=
.
s S
= —
2 <
- Q=
O
QO
T
Q
D=
O
<
O
Ly
E ol
T

BmMp 6.7 L7-14\0202) 6.1 Lp-T4\sBumelq - D\SIIIIS ADVOI1 6.Lp-Td\s|eroiddy 1onpoid epLOl - Y\USUBWIR - SUOS pue SaARIS\SIUBIIDNZ




TON SINVLITIMSNDOD aNIaTng "M'y 22028 @

€186 "ON Ansibey Id84 SNOISIATY

LBLE°BGO'CLE "ON @uoyd Ad dlvd [ON <+
G6GEE "4 ‘OOUIPA ‘0£Z X0 "O°d \Sv SNOLLYAZ T3 NEIE 2 o B_
‘ONI ‘SINVLINSNOD oNigTing % IXTBNISSY 90 19vd =% (= LS|85

&= 8§ w
. i J00a SSYioM38ld ~ I 5~

80S¥ "ON ‘3 < i
IPIUYDS o covcxm__ SNOS #® S3A3LS g i W m m g B

p4
‘o Va7 :Ag peundesd suswnoaq :1onaoYd S m 152 5
E 70T ‘L dung

i
(A

ELEVATION
0) (@)

I

z
VA

Wy
|~ (I ﬂ® = @ zw

ELEVATION
XO /OX

| O~
O] CNJOD ] N O
«ri O
OVQ
2
Dl L 154 WOG
o o ...lem
X <|<ZI
\.J Xl EOT
fr} zZ
7 S

e &
| ~Hio T ) i B zw
w0 u

™I o] o
O~
JOVYWI GIHONAINW

4

m

<} ><

&

- BMP6L1Lr-14\0202) 627 LY-14\sBumeld - D\STRITS ADVO31 6.1 Ly-T4\s|erorddy 1onpoid eplold - Y\IUBURLLIR - SUOS PUB SBABIS\SIUBID\Z



W /
NOTES: W *« ‘s,

o " " \\\\ 4,/ /,/
1. Sidelite assembly screws located @ 3" & 19" from S «‘.,, Oy ,,, o
each end of mullion {4 total). 3 Q %ﬁ. o
2. Moulding secured w/ 16 GA. X 1" brad S I: & EERE
nails located 1" from ends & 6" 0.c. max. = ogﬁ : 552 = 5
93 TGP ;o0
Z oo S 2825
7 > P8 558
,’/, ») \\\\ 2> Mz
‘v W 232
iy Y SR.4
8 "5
32 S8%¢
t Eo =M g
§59 3J50
~lE 08 50285
Sl T Do
Sla 1
D §
~12 £z
olE §
3 UV .,
SEE NOTE 1 513 u @§
SEENOTE 1 “le Jde
INTERIOR
_ 7
oz | 2
SO TS
A EE
~ -~ é‘n—'é % g"’
<<
5 g ©
8 O
}.—
It
EXTERIOR (10) (34112 >
/" 1"\ HORIZONTAL CROSS SECTION /2\ HORIZONTAL CROSS SECTION 0
w Outswing shown {Inswing similar) U o)
%]
o
(s
W
<
[
o
=z
DATE: 4,/20/22
SCALE:  N.T.S.
DWG. BY: RW
CHK. BY: LFS
DRAWING NO.:
FL—41479.4
SHEET 6 oF 13

v Z:\Clients\Steves and Sons - Permanent\A - Florida Product Approvals\FL-41479 LEGACY SERIES\C - Drawings\FL-41479 (2020)\FL-41479.4.dwg

@ 2022 R.W. BUILDING GONSULTANTS INC.



1iilllre
L Sl §

1-1/4"MIN, R 2%
EMB. (TYP.) \\\‘& 4/,0/,,
0 S\Q -'.. .". ,': g
: :. [« .'. : a
Yo Ix¢ 8, BEgis’
A RO ZOill %X ig== oy,
S _ 0.15"CSINK L OSSP 4o
I (TYP) 7w, CSEET N
I 2, 2 PS H58
. »b . ‘ /, suee Ro \\\\ a > Q z
vd | o v , - f; \\\ Z 0o
. -D‘4 r; - . DV‘\ II' " ‘\\‘%\ Sgog
0 > 4 AR I_N_@QR_ 2 ' v 3 § % 5 z &
» ' z B - SEa EDo
£33 Sqsb
o @ Z 8 "2 @oEl
: fl/t’!ilil’/fx’il/i!’/ff SEE NOTE 3 8 _;2 [T
R . \@ Za N % §
e 2 e o AN ii’ ’g’ 8 __C>J‘ o @%}
I D |2 N 1-—(c) 3¢
. it A Moy — —
| oe - A V‘" 4%
s b ,1: | —J' §8
e ox | B
e 58| wo
N il I
g0 |3 B2
1-1/4" MIN. o EXTERIOR ¥ ne |28 2
EMB. (TYP) @ & g3 |8 55
OF o |4 S0
1"\ HORIZONTAL CROSS SECTION /2" HORIZONTAL CROSS SECTION EXTERIOR INTERIOR o = P2 | B
7 %%Wq w/ 2hX Bucﬁ ing s 7 glciwn_ w/ %X Bucﬁ ing smila] A\ S § ) %8
utswing shown (Inswing similar utswing shown (Inswing similar =
o {4\ VERTICAL CROSS SECTION e |g °
7 /Shownw/2X Buck .
Outswing shown {Inswing similar) >
@\ 2
e : 2
_ : 5
12
SEENOQOTE 1 Q'
INTERIOR
Led
p Z
a
o
i , ' z
EXTERIOR 3 DATE: 4,/20/22
NOTES: SEE NOTE 2 S soas  N.T.S.
1. Sidelite assembly screws located 4" from each (TYP) o =N EXTERIOR INTERIOR oWe. B:  RW
end plus 4 more equally spaced along jamb (6 total). 1-1/4" MIN. \ cHKk. B: | LFS
located 1" from gnds & 0.C. max. = Shiown w/ 2X Buck 7/ Shown w/ 2X BUck FL—-41479.4
3. Anchor @ head is not required for single door (X) only. Outswing shown (Inswing similar) Outswing shown (Inswing similar) e 7 or 13

Z:A\Clients\Steves and Sons - Permanent\A - Florida Product Approvals\FL-41479 LEGACY SERIES\C - Drawings\FL-41479 (2020)\FL-41479.4.dwg

© 2022 R.W. BUILDING CONSULTANTS INE.



* 7\Clients\Steves and Sons - Permanent\A - Florida Product Approvals\FL-41479 LEGACY SERIES\C - Drawings\FL-41479 (20200\FL-41479.4.dwg

VAW

< .

e -

B

INTERIOR

it
- N

v

1-1/4" MIN. o
B )

EMSB. (TYP.

EXTERIOR

7

/"1 "\ HORIZONTAL CROSS SECTION

8 / Shownw/ 1XBuck
Qutswing shown {Inswing similar)

NOTES:
1. Sidelite assembly screws located 4" from each
end plus 4 more equally spaced along jamb (6 total).
2. Moulding secured w/ 16 GA. X 1" brad nails
located 1" from ends & 6" 0.c. max.
3. Anchor @ head is not required for single door (X} only.

)

R

1-1/4" MIN.

EMB. (TYP.)
m HORIZONTAL CROSS SECTION

8 / Shownw/ 1X Buck
QOutswing shown {Inswing similar)

o g

EXTERIOR

SEENOTE 1
INTERIOR
4~
T
EXTERIOR -
@ SEENOTE 2
(TYP.)
1-1/4" MIN.
EMB. {TYP.)

/"3 \ HORIZONTAL CROSS SECTION

8 /Shownw/ 1XBuck
Qutswing shown {inswing similar)

\\

/ 4\ VERTICAL CROSS SECTION

8 /Shownw/ 1XBuck
Outswing shown (Inswing similar)

W ’
X 41//"
SEE NOTE 3 Sk LTI
Q\Qo'-. ..‘.¢” @
:s:’ [1] '.“): Q
:I:g' § 0. Jd=0"
\ =0 ¢ XK g: L=< L
N 2?8 o ‘&S, 00
T S E:'\o:r- gom
| ALY ONEEE M
> 2, 0. P8 K58
/,,/ RLTPPR \\\ 2 >wnz
/‘; \\\ ZOow
T AN A 8&?%
5 o ke o x g o
Za 32
Ii-~‘@ =3 g g Eo g ‘g o -
8 o § 69 =Zg §h
=2 gl 2 ®qcal
— o Qle v
‘ o e o
<t 52 §
813 2
=18 2 @%
3'2
S
INTERIOR « Em
25| &
7 ¥a) >:)’
sg |3 32
0y |D 2=
Yo ol B
mE |2 S5
N
. V)E’ < Em
| neg W x S0
S o EQ
2 &
F o) gl ©
& &
\ >
o o v a b b
N b ’ o
[>Y . . ’.bb
2
A @]
2
o
(28
o
EXTERIOR INTERIOR Py
\ .
o
/5 "\ VERTICAL CROSS SECTION o 3730/5
8 /Shownw/ 1XBuck .
Outswing shown (Inswing similar) ScAlE:  N.T.S.
DWG. BY: RW
CHK. BY: LFS
DRAWING NO.:
FL—-41479.4

SHEET _8 oF 13

@ 2022 R.W. BUILDING CONSULTANTS INC.



Z:\Clients\Steves and Sons - Permanent\A - Florida Product Approvals\FL-41479 LEGACY SERIES\C - Drawings\FL-41479 (2020)\FL-41479.4.dwg

1-1/4" MIN.
EMB. (TYP.)

m HORIZONTAL CROSS SECTION

\9/ Shown Direct fo Masonry
Outswing shown (inswing similar)

NOTES:
1. Sidelite assembly screws located 4" from each
end plus 4 more equally spaced along jamb {6 total).
2. Moulding secured w/ 16 GA. X 1" brad nails
located 1" from ends & 6" 0.c. max.
3. Anchor @ head is not required for single door (X) only.

INTERIOR

EXTERIOR

1-1/4" MIN.
EMB. (TYP.)

/"2 "\ HORIZONTAL CROSS SECTION

9 / Shown Direct fo Masonry
Outswing shown (Inswing similar)

INTERIOR

EXTERIOR

SEENOIE 1

\\

-
SEE NOTE 2 o,
(TYP.) N
1-1/4" MIN.
EMB. (TYP.)

/"3 "\ HORIZONTAL CROSS SECTION

9 / Shown Direct o Masonry
Outswing shown {inswing similar)

v .
f . &
b .
- L

o T

SEENOTE 3

1-1/4" MIN,
EMB. (TYP.)

L AT AL &

- %}

EXTERIOR INTERIOR

A\

/~ 4\ VERTICAL CROSS SECTION

9 / Shown Direct fo Masonry
Outswing shown {Inswing similar)

1-1/4" MIN.
EMB. (TYP.)

EXTERIOR X/ INTERIOR

A\

/"5 "\ VERTICAL CROSS SECTION

9 / Shown Direct to Masonry
Outswing shown (Inswing similar)

W

2110l
L hiLE

June 7, 2022

P.0. Box 230, Valrico, FL 33595

BUILDING CONSULTANTS, INC.
Phone No.:

Lyndon F. Schmidt
P.E. No. 43409

Ry

813.6598.9197

FBPE Registry No. 9813

& VERTICAL CROSS

STEVES & SONS
FIBERGLASS DOOR

PRODUCT:
PART OR_ASSEMBLY:
HORIZONTA

BY | SECTIONS (LDIRECT TO MASONRY)

NOJ DATE

REVISIONS

DATE: 4/20/22

ScALE:  N,T.S.

DWG. BY: RW

CHK. BY: LFS

DRAWING NO.:
FL—-41479.4

SHEET 9 oF 13

© 2022 R.W. BUILDING CONSULTANTS INC.



CONE SANVYLINSNGD ONIATHNE M"Y 2202 @

C186 ON Ansibey Idad SNOISIAZY
LB6L6'6S9°CLE "ON @uoyd SNOLLO3S g J1va [ON < |m
SBSET 14 'O9MIDA ‘0gZ X0g °O'd \Eu SS040 TvOILHAA NPE R 1_
"ONI ‘SINVLINSNOD ONIdTing @ TAT@NISSY 90 Lvd DRI
i, |z g 3lo
SN2 WNoy, Sobeb “ON ‘I 400 SSY1943dld NEMNEAE
DO ooy Y %, wPIUss w4 UopuAT SNOS % S3AILS MEIHE £alp
S . V)2 ihg_peindeid sjuswinoog :10Ndo¥d HAEIHHE &

TTOT ‘L sunf

INTERIOR

\\

/"4 \ VERTICAL CROSS SECTION

W Outswing Threshold

5
5 S
& : ®
“ 52
alo i ("dAL) "gw3
o
o —ls
N oo
= Sl2
e
S|e
- B
«~ e

EXTERIOR

®

('dAL) "gw3
NIW . F/1-1

EXTERIOR

E
)

/"3 VERTICAL CROSS SECTION

W Inswing Threshold

INTERIOR

P )SEENOTE1

("dAL) "aw3
NIW ./ L-1

EXTERIOR

A

/"1 VERTICAL CROSS SECTION

W Inswing Threshold

INTERIOR

®

("dAL) "awW3
NIW ./ 1-1

1. Anchor @ sill is not required for single door (X) only.

Note:

BMPY6.7LY-14\0202) 6L1Ly-TH\sBuUmMeIq - D\STIYIS ADVOTT 647 Lt-T4\s]eAoiddy 19npoid BPLOLd - YAIUBUBWS - SUOS pue SaASIS\SIUBIDNZ



"ON| SLNVAINSNOD SNIgnNg "M’y 2202 O

C186 ON Ansibey 3ded SNOISIATIY
LBLE'6G9°CL8 ION 8uoyd Ag 31vd _[ON + M
G6SES T4 ‘O9MIDA ‘OCZ Xog 'O°d § ONIEOHONY Xond m glE|IL o 1_
"ONI ‘SLNVLTNSNOO ONITINg MW TIaNIsevV 40 19vd Sis . <19
N2 WNO e/ ‘oN 3" ¥000 SSv19434l4 J glgle |
DS e’ 60¥EY ‘ON ‘3'd 812
////@ ...&@mlﬂ.nw.ﬂ.%...@&\\\\ IPILIYDS 4 uopukd SNOS % S3AILS i w sl w W vl
.hr&... .... ¥~ :Ag peiodesd sjyuswinoog :LoNA0Hd SIBIEIS|E %
. L& 220¢ ‘L dung

D 8

»x
3 goveroN [ I \
Y S
\\\\ w-.wazmo»...oo) /,,I
7, MITTT
%, » \SIO.w W,,///
TN
(dAL) XYW
- TEE ‘00,91
« :v
s t 1 i 1 t
.o B
4W P

OXO

HEAD & JAMBS
(TYP.)

- 4'(TYP))
4

g
QN | N V%
2| B .
Cu * ..,q...u - ..‘....4..‘.
, T 1 I I ] Y
) SR 2 T R ]
e feifes
- (dAL) XYW
— T:wc ‘0091
DI. 11i
=& O
Ex B : m : m m =
2 9w %l Qs
s « - O
5 — = T
€S TTIF > O
O =
v -
> b A
™ : < Q e
oy 3 = O
..‘A.H.‘ Dlw.\ -...! U
5 «Q
« E + - ><
| = SR S S S SR N
S i B B

o
(TYP.)

{dAL) XYW
« — _Aal awc "0°0.91
4|.|\ I t t 1 1 f
SN 2 v
ol i X
B 2= o
.a ..l_ . [ 1 l ] 4- ./ W
.c... . 4.« ” M<. .u.cm.w M.mﬁa. ..w ~ %« ... ¢.”. m
L . Ly .L.a.-..... : . ......1.4..'. .4... ..eQ Av =z
- . . m
=

BMP Y 6.1 E-14\0202) 6L LY-T4\sBUMBIQ - DASTIYIS ADVYDTT 6LFLY-Td\s|eroiddy 1onpoid epLOld - Y\iuaUeULISd - SUOS pue SaABIS\SIUBID\Z



Z:\Clients\Steves and Sons - Permanent\A - Florida Product Approvals\FL-41479 LEGACY SERIES\C - Drawings\FL-41479 (2020)\FL-41479.4.dwg

CRON X 1172 LONG 16 GA. STAPLES & 2 X 374 20 G SEELPLATE ATACHED 10 &
#7 X 2" DRYWALL SCREWS @ HEAD & SILL (TYP.) MULLION e oGS A A";VL/Eg ) $ Q‘\
. 4" (TYP.) . B ' S8y 3
6 - F j 4 mve) “E Ixi¢ g
me) ™ [T || 7 | - _ 294 §
—ll— b | SEEHINGE T T ?;’5p“
* | 11— oeral o 05 %,
L& o (TYp.) 2. Sw Yy,
- - B - N 2 e ¢ &
IXBUCK IXBUCK 5 O T i = 86
& O & 3
DIRECT TO DIRECTTO a8 % R 2 Q
- MASONRY —|| — — MASONRY —_{ — - N L ¥ l *J
JAMBS HEAD & JAMBS i i
(TYP.) (TYP) TBE _
- - - 4 | e ik
_ J— R
& JE 3 = UE
a— — Q E e — (o ™
O = ><
<% *3 P
FRAME -3 DOOR SILL SEE LATCH &
(TP (TYP.) EE DEADBOLT STRIKE SEE MULTIPOINT LOCK
- - — Pl & DETAIL STRIKE PLATE DETAIL
i = s (TYP.) (TYP.)
X X0, OX ourswing  HINGE JAMB/MULLION  STRIKE JAMB/MULLION  STRIKE JAMB/MULLION
- MULLION LATCH & DEADBOLT MULTIPOINT LOCK
_ INSWING
INTEGRAL MULLION ATTACHED TO 4" (TYP.) . Do __,__\_____
HEAD & SILL w/ (3) #10 X 3"FH 4" (TYP) = SIDELITE SILL \ @
COMPOSITE DECK SCREWS (TYP.) ‘ _"] | (TYP) DRECTTO \ = E
11 RN DIRECTTO MASONRY 2X BUCK @ ]
S - MASONRY
—\\ B - MAsON 1X BUCK ﬁ@ X BUCK e ]
{ 2X BUCK @ ‘\@ DIRECT TO \@})\®
- e X
1X BUCK e Ol @ ROCKWELL MULTIPOINT LOCK HARDWARE ROCKWELL HARDWARE
— DIRECTTO ,_“__Mw_
MASONRY \\
HEAD & JAMBS DIRECT TO
(Tv ] HINGE DETAIL MASONRY (20)
- - INSWING 1X BUCK e \
OUTSWING 0 = \ @
| 9= DRECTTO  2XBUCK @ — @
INSWING o - - © . \ MASONRY e @
SIDELITE SILL S50 S - = 1X BUCK
(TYP) N (TvP) L T o ABUCK oy BuUCK(25 : ‘
1 L1lidd o |ilo N 2X BUCK ]
I 1X BUCK @ i
o Hlo ::>\<3i> \ 1X BUCK
OXO DIRECTTO DIRECT TO \
AN \ MASONRY MASONRY \
KWIKSET HARDWARE SCHLAGE HARDWARE
HINGE DETAIL
FRAME ANCHORING OUTSWING HARDWARE DETAILS

2141 001,
v L 3

Wy

G

W,

L% 0

X 3
n. - in

L* - .

0, 220"
§:<:Z—'f\

Q,':Z:m.“-gn

.‘Q::— oM
...Q:z'gc;m
oS Eso
\\ ._J>ULQO
N\ B 0=
N ZJdwmp

‘.\ oM 43

‘%\ ON-O:E

o B o x2 ol

°E Z@ K

o o] 0 )]

o £0O | _CL\J
alféy 5024
alt "¢ Dhaoaomuw
(] ™
N-E .
=g 2 §

£ O
@15 v .

818 cu

S8 2
nk o
z8 =<
SR &ln
n gg

)
s OL)J
S0 |3 2%
0wy B =<
wo |is =
an: w Wo
o5 B 3

L 0T | ET

b o

O

=1 I I

S E

g &

>—.
)
%)
=z
o
0
o
a
z
o
"
=
=4 I B
O 3
R E
O
2| |8

DATE: 4/20/22 |3

scae:  N.T.S. g

DWG. B:  RW 8

cHk. B:  LFS 3

DRAWING NO.: x

[\
FL—41479.4 N
SHEET 12 oF 13 g




Z\Clients\Steves and Sons - Permanent\A - Florida Product Approvals\FL-41479 LEGACY SERIES\C - Drawings\FL-41479 (2020)\FL-41479.4.dwg

BILL OF MATERIALS
ITEM # | DESCRIPTION MATERIAL

A 1X BUCK (G >=0.42) WOOD

B 2X BUCK (G >=0.42) WOOD
C 1/4" MAX. SHIM SPACE -

D 1/4" X 2-3/4" PFH DeWALT OR ITW CONCRETE SCREW STEEL

E MASONRY - 3,000 PSI MIN. CONCRETE CONFORMING TO ACI CONCRETE

301 OR HOLLOW BLOCK CONFORMING TO ASTM C90

F 1/4" X 3-3/4" PFH DeWALT OR ITW CONCRETE SCREW STEEL

G 3/16" X 3-1/4" PFH ITW CONCRETE SCREW STEEL

L #10 X 2-1/2" PFH WOOD SCREW (1.15" MIN. EMB.) STEEL

M 3/16" X 2-1/4" PFH ITW CONCRETE SCREW STEEL

P 1/4" X 2-1/4" PFH DeWALT OR [TW CONCRETE SCREW STEEL

1 COMPOSITE JAMB COMP

3 COMPOSITE MULLION COMP/LVL
7/ WEATHERSTRIP FOAM

8 SWEEP VINYL

9 4'X 4" HINGE STEEL

11 #9 X 3/4" PFH WOOD SCREW STEEL

12 LATCH STRIKE PLATE STEEL

13 DEADBOLT STRIKE PLATE STEEL

14 INSWING THRESHOLD ALUM/COMP
15 OUTSWING THRESHOLD ALUM/COMP
17 INSWING SIDELITE ADAPTER PVC

18 #8 X 3" SD TRIM SCREW STEEL
20 #9 X 1/2" PFH WOOD SCREW STEEL

21 #12 X 2-1/2" PFH WOOD SCREW STEEL
23 #8 X 3/4" PFH WOOD SCREW STEEL
25 #8 X 2-1/2" PFH WOOD SCREW STEEL
27 #7 X 1-5/8" DRYWALL SCREW STEEL
34 MULTIPOINT LOCK STRIKE PLATE STEEL
40 DOOR PANEL -
50 SIDELITE PANEL -

0.75"

1

1.44"

213"

COMPOSITE JAMB

WORLDWIDE "4EVER"

0.5" —

|t— 1 5" —]

] LVLINSERT
| Aoss'x27)

? 1
25— |
@ COMPOSITE MULLION
244"

5.62"

14 INSWING THRESHOLD

Columbia

17 INSWING SIDELITE SPACER
Columbia

"'I L— 0.65"

4.6"

15 OUTSWING THRESHOLD

Columbia

CONCRETE ANCHOR NOTES:

. Concrete anchor locations at the corners may be adjusfed to maintain the min.
edge distance to mortar joinis.

. Concrete anchor locations noted as "MAX. ON CENTER" must be adjusted fo
maintain the min. edge distance to mortar joints, additional concrete anchors
may be required to ensure the "MAX. ON CENTER" dimension are nof exceeded.

.....
.....

June 7, 2022

Valrico, FL 33595

BUILDING CONSULTANTS, INC.
P.O. Box 230,
Phone No.: 813.659.9197

Lyndon F. Schmidt
P.E. No. 43409

Ry

FBPE Registry No. 9813

ALL SEASONS, INC
FIBERGLASS DOOR

PART OR ASSEMBLY:

PRODUCT:

BILL OF MATERIALS
& COMPONENTS

NOJ DATE

REVISIONS

TTW BUILDEX

WET

DATE: 4/20/22

wood screws fo prevent the splitting of wood.

TAPCON® [ 1/ 11/8 SCALE: N.T’.?i./
DeWALT . . . . bwe. Br:
uLtiRACON:| 174 1-1/4 1 4 cHk. 8. LFS
WOOD SCREW INSTALLATION NOTES: DRAWING NO.:
. Maintain a minimum 5/8" edge distance, 1" end distance, & 1" o.c. spacing of FL-41479.4

SHEET 13 oF 13

© 2022 R.W. BuiLDING CONSULTANTS INC.



